do/dsum E; [mb,GeV]
29
[HEN o )

=
<
[y

=
<
N

1073

107

107

Ratio to UA1

0.5

500 GeV ppbar Soft QCD
[— I I I | I I I | I I I | I I I | T —]
= Sum ET (UAL, all p) [E
E." -

® i |
E ’ * *. ’_“.:{E;g\fﬂfﬂ E
- Rah -
| ¢ ¥
= m UAL ~y 3
— i--O-- Herwig++ 2.7.1 default n
| --3-- Herwig 7.2.1 default ]
= i —&— Pythia 8.308 default =
[ —¥-- Pythia 8.308 vincia-default |
=+ ¢ Sherpa 2.2.9 default =
E_ | | | | | | | | | | | | | | | | I_E
: ||I| T T | T T T | T T T | T T |l | T :
= . =
— ! 7
= | m ! =
C B ! 7]
: | ) ®\ ’ @ "\‘ 'l “ : :
C | x®% v p®@ A A ‘ Z
- . ! '{ ‘ @N , \‘ /I @’ \ —]

oY X, B , ]
R I AR, A WA ® e ©
T AT .. : B
B wa -
| ¢ Yy WP g Pagg i
,' ‘v V\v \\ E,:l’ ‘\ 'l “ I' ’
| 1 N El I_\Jl:'l | b |
Y : I/ﬂ 1'
! ¢ ¢ R A 4 [ ';ﬂ G b g
I ! : VY \ ./ ‘ m Vo IR Ted ]
b v "Y \ LN O :’
|l 1 1 . | 1 1 1 | 1 1 Il\ |m ||' ‘I 1 1 l'. | 1
0 20 40 60 80

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


